Name _______________________________________________  #____________  Block____________
Operons
Go to the following bozemanscience website:

http://www.bozemanscience.com/the-operon/
Watch the video and answer the questions below:

1. Which kinds of cells have operons?

2. Define “stimulons”.

3. What is the function of the lac operon in E. coli?

4. What are the parts of the operon? Hint: PROG.  Describe each part and its function.

5. When lactose concentrations are high, what happens to the lac operon?  (Where does the lactose bind to, and what happens as a result?)

6. What happens when lactose is NOT present?  What occurs within the operon region as a result?

7. What is the function of the trp Operon?

8. What occurs within the operon when tryptophan is present?

9. What happens when tryptophan is not present?

10. How do the two types of operons exhibit a feedback mechanism?

11. In the computer simulation shown by Paul Anderson, what is the function of the regulatory gene that sits “upstream” from the lacZ gene?
Go to the second bozemanscience video at

http://www.youtube.com/watch?v=3S3ZOmleAj0&feature=youtu.be
Watch the video and answer the questions below:

12. Why does E. coli need to produce enzymes to break down food that we eat?

13. Define regulatory gene?
14. Define regulatory sequence?

15. In what parts of the protein synthesis pathway can regulation occur?
16. Using the diagram below, label each part of the lac operon.

a. green circle represents ___________________________________

b. red figure represents _____________________________________

c. purple bar represents ____________________________________

d. white egg-like oval represents ___________________________

e. yellow figure represents__________________________________

f. small pink ribbon represents ____________________________

g. long pink ribbon represents ______________________________
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17. What is the “TATA” box?

18. Why does Mr. Anderson consider the operator like an on-off switch?
19. When is the operator turned on? When is it turned off?
